

NOTICE of Special Meeting

Thursday November 5th, 2020 @ 6:00 PM

Pursuant to CO §121.01(b) Mayor Molnar & Council President Tulley have called a special council meeting for the date and at the time above for the purpose of the following legislative items.

ORD. NO. 68 -2020[]
AN ORDINANCE AUTHORIZING AND DIRECTING THE MAYOR TO ENTER INTO A CONTRACT
WITH FABRIZI TRUCKING AND PAVING, INC. FOR THE OUR LADY OF GUADALUPE DETENTION
POND PROJECT
First Rdg:
Second Rdg:
Third Rdg:

*Public Comment for the November 5th, 2020 Council Meeting should be sent to Clerk of Council Amanda Trzaska at <u>atrzaska@macedonia.oh.us</u>. Public comment must be received no later than the close of business on July 31st, 2020 and will be subsequently made available to the public.

*Note *

*ADJOURNMENT

- This will be a Virtual Regular Meeting; we will not be holding session in council chambers.
- Council's virtual meeting will be held through Microsoft Teams access will be available on the City of Macedonia's website www.macedonia.oh.us

ORIGINATOR:	ADMINISTRATION	
SPONSOR:		
		MACEDONIA E NO. <u>68</u> – 2020
	G AND DIRECTING TH RIZI TRUCKING AND	RDINANCE E MAYOR TO ENTER INTO A CONTRACT PAVING, INC. FOR THE OUR LADY OF ENTION POND PROJECT
safety and welfare	of all the City residents	med necessary and in the best interest of the health, to construct a detention pond on recently-acquired uadalupe/the Catholic Diocese of Cleveland; and
order to construct the	, , ,	ertised for bids pursuant to Council authorization in mount not to exceed the Engineer's estimate of Six 0).
WHEREAS on October 23, 2020		ere advertised and received by the City and opened
Fabrizi Trucking ar to the construction	nd Paving, Inc. ("Fabrizi")	eviewed the bids and recommended that the bid of be accepted as the best and lowest bid with regard Council therefore wishes to authorize the Mayor to
NOW, THI	,	AINED by the Council of the City of Macedonia,
construction of a de Five Dollars (\$392, documents attached	etention pond in the amou 065.00), which is deemed	orized to accept the bid submitted by Fabrizi for the ant of Three Hundred Ninety-Two Thousand Sixty-to be the lowest and best bid, as set forth in the bid d incorporated herein by reference, and enter into a
concerning and rela	ating to the adoption of the lating to the adoption of the Cou	mined that all the formal action of this Council e Ordinance was adopted in an open meeting of this ncil, and any of its committees that resulted in such ublic in compliance with all legal requirements.
		nance shall become effective upon its adoption by erwise be provided for in law.
	PASSED:	
	EFFECTIVE:	
	POSTED:	
MAYOR:_	Nicholas Molnar	
	i viciioias ivioiliai	

Amanda Trzaska, Clerk of Council

ATTEST:___



City of Macedonia 9691 Valley View Road Macedonia, Ohio 44056 Attention: Nicholas Molnar, Mayor

October 26, 2020

Re: Our Lady of Guadalupe Detention Pond

Dear, Mayor Molnar,

The City has received twenty-two (22) bid proposals for the project known as the Our Lady of Guadalupe Detention Pond. I have reviewed the bid proposals and have identified the lowest and best bid proposal as that being submitted by Fabrizi Trucking and Paving Inc., in the amount of \$392,065.00. I am therefore recommending that Fabrizi Trucking and Paving Inc., be awarded the contract for the Our Lady of Guadalupe Detention Pond.

Respectfully Submitted,

Joseph L. Gigliotti, City Engineer Chagrin Valley Engineering, Ltd.

Cc: Members of Council Law Director Guidetti Finance Director Veres

attachments

BID TABULATION

Our Lady of Guadalupe Detention Pond

City of Macedonia

	E: October 23, 2020 JOB NO. 16118 Engineer's Estimate \$605,000.00			Fabrizi Trucking	& Paving Co., Inc.	Tri Mor C	Tri Mor Corporation	
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	CLEARING AND GRUBBING	LUMP	1	\$8,200.00	\$8,200.00	\$14,800.00	\$14,800.00	
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	
3	HEADWALL REMOVED	EACH	1	\$215.00	\$215.00	\$500.00	\$500.00	
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$875.00	\$875.00	\$500.00	\$500.00	
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$180.00	\$6,300.00	\$200.00	\$7,000.00	
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$1.66	\$5,810.00	\$2.50	\$8,750.00	
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$190.00	\$25,650.00	\$205.00	\$27,675.00	
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$80.00	\$13,200.00	\$78.00	\$12,870.00	
9	CONCRETE HEADWALL	EACH	2	\$2,700.00	\$5,400.00	\$1,050.00	\$2,100.00	
10	8" STORM SEWER, TYPE B	LF	10	\$42.00	\$420.00	\$54.00	\$540.00	
11	12" STORM SEWER, TYPE C	LF	15	\$41.50	\$622.50	\$48.00	\$720.00	
12	18" PVC STORM SEWER, TYPE B	LF	80	\$60.00	\$4,800.00	\$100.00	\$8,000.00	
13	24" STORM SEWER, TYPE B	LF	355	\$99.00	\$35,145.00	\$140.00	\$49,700.00	
14	24" STORM SEWER, TYPE C	LF	385	\$58.00	\$22,330.00	\$96.00	\$36,960.00	
15	30" STORM SEWER, TYPE B	LF	335	\$108.00	\$36,180.00 *	\$160.00	\$53,600.00	
16	30" STORM SEWER, TYPE C	LF	205	\$80.00	\$16,400.00	\$90.00	\$18,450.00	
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$5,500.00	\$5,500.00	\$2,500.00	\$2,500.00	
18	48" STORM MANHOLE	EACH	1	\$3,100.00	\$3,100.00	\$2,500.00	\$2,500.00	
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$2,800.00	\$5,600.00	\$2,300.00	\$4,600.00	
20	ODOT 2-2B CATCH BASIN	EACH	1	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	
21	ODOT 2-3 CATCH BASIN	EACH	3	\$1,500.00	\$4,500.00	\$2,100.00	\$6,300.00	
22	ODOT 2-4 CATCH BASIN	EACH	2	\$2,500.00	\$5,000.00	\$2,200.00	\$4,400.00	
23	6' CHAIN LINK FENCE	LF	590	\$33.00	\$19,470.00	\$52.00	\$30,680.00	
24	SEEDING AND MULCHING	LUMP	1	\$6,300.00	\$6,300.00	\$10,000.00	\$10,000.00	
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	
26	AGGREGATE ACCESS DRIVE	SY	425	\$16.50	\$7,012.50	\$12.00	\$5,100.00	
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$625.00	\$625.00	\$1,000.00	\$1,000.00	
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$8,500.00	\$8,500.00	\$3,800.00	\$3,800.00	
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	
30	MOBILIZATION	LUMP	1	\$12,000.00	\$12,000.00	\$16,000.00	\$16,000.00	
31	CONCRETE FLAT WORK	SF	70	\$30.50	\$2,135.00	\$10.00	\$700.00	
32	TYPE 6 CURB	LF	330	\$35.00	\$11,550.00	\$20.00	\$6,600.00	
33	AS-BUILTS	LUMP	1	\$5,000.00	\$5,000.00	\$500.00	\$500.00	
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$61.00	\$1,525.00	\$60.00	\$1,500.00	
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	
	TOTAL PROJECT COST			TOTAL	\$392,065.00 *	TOTAL	\$443,845.00	
				DAYS TO COMPLETE: 60		DAYS TO COMPLETE: 180)	
				EARLIEST START DATE:	11/2/2020	EARLIEST START DATE:	2/1/2020	
				*Math error		-		

			Rudzik Exc	avating, Inc.	Cornerstone Earthwork, LLC			
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	CLEARING AND GRUBBING	LUMP	1	\$20,450.00	\$20,450.00	\$14,000.00	\$14,000.00	
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$65,335.00	\$65,335.00	\$66,600.00	\$66,600.00	
3	HEADWALL REMOVED	EACH	1	\$400.00	\$400.00	\$375.00	\$375.00	
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$800.00	\$800.00	\$1,400.00	\$1,400.00	
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$192.50	\$6,737.50	\$200.00	\$7,000.00	
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$3.30	\$11,550.00	\$2.86	\$10,010.00	
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$203.50	\$27,472.50	\$214.00	\$28,890.00	
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$65.11	\$10,743.15	\$67.00	\$11,055.00	
9	CONCRETE HEADWALL	EACH	2	\$2,415.00	\$4,830.00	\$1,750.00	\$3,500.00	
10	8" STORM SEWER, TYPE B	LF	10	\$127.44	\$1,274.40	\$45.00	\$450.00	
11	12" STORM SEWER, TYPE C	LF	15	\$93.68	\$1,405.20	\$47.00	\$705.00	
12	18" PVC STORM SEWER, TYPE B	LF	80	\$62.32	\$4,985.60	\$45.00	\$3,600.00	
13	24" STORM SEWER, TYPE B	LF	355	\$117.00	\$41,535.00	\$87.00	\$30,885.00	
14	24" STORM SEWER, TYPE C	LF	385	\$67.00	\$25,795.00	\$83.00	\$31,955.00	
15	30" STORM SEWER, TYPE B	LF	335	\$79.47	\$26,622.45	\$95.00	\$31,825.00	
16	30" STORM SEWER, TYPE C	LF	205	\$89.39	\$18,324.95	\$98.00	\$20,090.00	
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$13,450.00	\$13,450.00	\$8,500.00	\$8,500.00	
18	48" STORM MANHOLE	EACH	1	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$5,715.00	\$11,430.00	\$5,000.00	\$10,000.00	
20	ODOT 2-2B CATCH BASIN	EACH	1	\$830.00	\$830.00	\$1,500.00	\$1,500.00	
21	ODOT 2-3 CATCH BASIN	EACH	3	\$1,585.00	\$4,755.00	\$2,000.00	\$6,000.00	
22	ODOT 2-4 CATCH BASIN	EACH	2	\$2,120.00	\$4,240.00	\$2,500.00	\$5,000.00	
23	6' CHAIN LINK FENCE	LF	590	\$46.00	\$27,140.00	\$39.00	\$23,010.00	
24	SEEDING AND MULCHING	LUMP	1	\$10,925.00	\$10,925.00	\$12,500.00	\$12,500.00	
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$825.00	\$825.00	\$900.00	\$900.00	
26	AGGREGATE ACCESS DRIVE	SY	425	\$32.00	\$13,600.00	\$25.00	\$10,625.00	
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$250.00	\$250.00	\$1,200.00	\$1,200.00	
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$9,300.00	\$9,300.00	\$9,000.00	\$9,000.00	
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	
30	MOBILIZATION	LUMP	1	\$4,000.00	\$4,000.00	\$25,500.00	\$25,500.00	
31	CONCRETE FLAT WORK	SF	70	\$17.00	\$1,190.00	\$33.00	\$2,310.00	
32	TYPE 6 CURB	LF	330	\$29.40	\$9,702.00	\$30.00	\$9,900.00	
33	AS-BUILTS	LUMP	1	\$100.00	\$100.00	\$1,500.00	\$1,500.00	
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$67.00	\$1,675.00	\$80.00	\$2,000.00	
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	
	TOTAL PROJECT COST			TOTAL	\$444,672.75	TOTAL	\$456,785.00	
				DAYS TO COMPLETE: 45		DAYS TO COMPLETE: 120		
				EARLIEST START DATE: 1	11/2/2020	EARLIEST START DATE: 1/18/2021		

				Woodford I	Excavating, LLC	Pla	Platform Cement, Inc.	
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRI	CE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$6,570.00	\$6,570.00	\$9,	500.00	\$9,500.00
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$59,500.00	\$59,500.00	\$75,	000.00	\$75,000.00
3	HEADWALL REMOVED	EACH	1	\$245.00	\$245.00	\$	200.00	\$200.00
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$3,052.00	\$3,052.00	\$	350.00	\$350.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$192.00	\$6,720.00	\$	180.00	\$6,300.00
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$2.00	\$7,000.00		\$3.50	\$12,250.00
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$200.00	\$27,000.00	\$	190.00	\$25,650.00
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$76.00	\$12,540.00		\$65.00	\$10,725.00
9	CONCRETE HEADWALL	EACH	2	\$2,295.00	\$4,590.00	\$3,	000.00	\$6,000.00
10	8" STORM SEWER, TYPE B	LF	10	\$88.00	\$880.00		\$40.00	\$400.00
11	12" STORM SEWER, TYPE C	LF	15	\$151.00	\$2,265.00		\$70.00	\$1,050.00
12	18" PVC STORM SEWER, TYPE B	LF	80	\$107.00	\$8,560.00		\$95.00	\$7,600.00
13	24" STORM SEWER, TYPE B	LF	355	\$91.00	\$32,305.00		\$85.00	\$30,175.00
14	24" STORM SEWER, TYPE C	LF	385	\$61.00	\$23,485.00		\$87.00	\$33,495.00
15	30" STORM SEWER, TYPE B	LF	335	\$130.00	\$43,550.00	\$	105.00	\$35,175.00
16	30" STORM SEWER, TYPE C	LF	205	\$48.00	\$9,840.00	\$	107.00	\$21,935.00
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$6,275.00	\$6,275.00	\$6,	500.00	\$6,500.00
18	48" STORM MANHOLE	EACH	1	\$3,924.00	\$3,924.00	\$2,	300.00	\$2,300.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$6,380.00	\$12,760.00	\$2,	00.00	\$4,000.00
20	ODOT 2-2B CATCH BASIN	EACH	1	\$1,823.00	\$1,823.00	\$1,	350.00	\$1,350.00
21	ODOT 2-3 CATCH BASIN	EACH	3	\$2,048.00	\$6,144.00	\$1,	700.00	\$5,100.00
22	ODOT 2-4 CATCH BASIN	EACH	2	\$2,659.00	\$5,318.00	\$2,	00.00	\$4,000.00
23	6' CHAIN LINK FENCE	LF	590	\$47.00	\$27,730.00		\$75.00	\$44,250.00
24	SEEDING AND MULCHING	LUMP	1	\$31,267.00	\$31,267.00	\$21,	500.00	\$21,500.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$3,405.00	\$3,405.00	\$	800.00	\$800.00
26	AGGREGATE ACCESS DRIVE	SY	425	\$25.00	\$10,625.00		\$30.00	\$12,750.00
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$714.00	\$714.00	\$1,	00.00	\$1,000.00
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$2,940.00	\$2,940.00	\$11,	00.00	\$11,000.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,	00.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$16,500.00	\$16,500.00	\$11,	300.00	\$11,300.00
31	CONCRETE FLAT WORK	SF	70	\$62.00	\$4,340.00		\$8.00	\$560.00
32	TYPE 6 CURB	LF	330	\$44.00	\$14,520.00		\$28.00	\$9,240.00
33	AS-BUILTS	LUMP	1	\$5,376.00	\$5,376.00	\$	700.00	\$700.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$84.00	\$2,100.00		\$65.00	\$1,625.00
	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,	000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$463,863.00	TOTAL	L	\$473,780.00
				DAYS TO COMPLETE:	90	DAYS TO COM	PLETE: 90	0
				EARLIEST START DAT	E: 10 days from NTP	EARLIEST STA	RT DATE:	: 11/2/2020

				Lockhart	Concrete Co.	Mr. Ex	cavator, Inc.
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$29,000.00	\$29,000.00	\$10,674.00	\$10,674.00
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$59,566.00	\$59,566.00	\$56,208.00	\$56,208.00
3	HEADWALL REMOVED	EACH	1	\$50.00	\$50.00	\$650.00	\$650.00
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$500.00	\$500.00	\$626.00	\$626.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$300.00	\$10,500.00	\$188.00	\$6,580.00
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$2.75	\$9,625.00	\$4.00	\$14,000.00
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$263.00	\$35,505.00	\$198.00	\$26,730.00
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$93.00	\$15,345.00	\$82.00	\$13,530.00
9	CONCRETE HEADWALL	EACH	2	\$3,000.00	\$6,000.00	\$2,496.00	\$4,992.00
10	8" STORM SEWER, TYPE B	LF	10	\$65.00	\$650.00	\$78.00	\$780.00
11	12" STORM SEWER, TYPE C	LF	15	\$75.00	\$1,125.00	\$47.00	\$705.00
12	18" PVC STORM SEWER, TYPE B	LF	80	\$80.00	\$6,400.00	\$102.00	\$8,160.00
13	24" STORM SEWER, TYPE B	LF	355	\$100.00	\$35,500.00	\$137.00	\$48,635.00
14	24" STORM SEWER, TYPE C	LF	385	\$110.00	\$42,350.00	\$83.00	\$31,955.00
15	30" STORM SEWER, TYPE B	LF	335	\$139.00	\$46,565.00	\$133.00	\$44,555.00
16	30" STORM SEWER, TYPE C	LF	205	\$124.00	\$25,420.00	\$85.00	\$17,425.00
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$3,000.00	\$3,000.00	\$6,787.00	\$6,787.00
18	48" STORM MANHOLE	EACH	1	\$4,300.00	\$4,300.00	\$3,417.00	\$3,417.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$6,750.00	\$13,500.00	\$5,633.00	\$11,266.00
20	ODOT 2-2B CATCH BASIN	EACH	1	\$800.00	\$800.00	\$2,214.00	
21	ODOT 2-3 CATCH BASIN	EACH	3	\$1,050.00	\$3,150.00	\$2,948.00	\$8,844.00
22	ODOT 2-4 CATCH BASIN	EACH	2	\$1,500.00	\$3,000.00	\$3,500.00	\$7,000.00
23	6' CHAIN LINK FENCE	LF	590	\$24.00	\$14,160.00	\$70.00	\$41,300.00
24	SEEDING AND MULCHING	LUMP	1	\$15,900.00	\$15,900.00	\$23,259.00	\$23,259.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$1,500.00	\$1,500.00	\$803.00	\$803.00
26	AGGREGATE ACCESS DRIVE	SY	425	\$20.00	\$8,500.00	\$18.00	\$7,650.00
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$400.00	\$400.00	\$674.00	\$674.00
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$1,000.00	\$1,000.00	\$9,460.00	\$9,460.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$19,669.00	\$19,669.00	\$25,621.00	\$25,621.00
31	CONCRETE FLAT WORK	SF	70	\$10.00	\$700.00	\$26.00	\$1,820.00
32	TYPE 6 CURB	LF	330	\$20.00	\$6,600.00	\$35.00	\$11,550.00
33	AS-BUILTS	LUMP	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$65.00	\$1,625.00	\$89.00	\$2,225.00
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$484,905.00	TOTAL	\$513,095.00
				DAYS TO COMPLETE:	60	DAYS TO COMPLETE:	60
				EARLIEST START DAT	E: 5 days from NTP	EARLIEST START DA	E: 45 days from NTP

				Cavanaugh Bı	uilding Corporation	C. Cru	mp Inc.
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$8,475.00	\$8,475.00	\$10,000.00	\$10,000.00
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$75,725.00	\$75,725.00	\$30,000.00	\$30,000.00
3	HEADWALL REMOVED	EACH	1	\$250.00	\$250.00	\$3,000.00	\$3,000.00
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$900.00	\$900.00	\$1,000.00	\$1,000.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$193.00	\$6,755.00	\$7,000.00	\$245,000.00 *
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$3.25	\$11,375.00	\$7,000.00	\$24,500,000.00 *
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$200.00	\$27,000.00	\$25,620.00	\$3,458,700.00 *
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$65.00	\$10,725.00	\$24,650.00	\$4,067,250.00 *
9	CONCRETE HEADWALL	EACH	2	\$2,100.00	\$4,200.00	\$9,000.00	\$18,000.00 *
10	8" STORM SEWER, TYPE B	LF	10	\$100.00	\$1,000.00	\$1,500.00	\$15,000.00 *
11	12" STORM SEWER, TYPE C	LF	15	\$120.00	\$1,800.00	\$2,250.00	\$33,750.00 *
12	18" PVC STORM SEWER, TYPE B	LF	80	\$125.00	\$10,000.00	\$12,000.00	\$960,000.00 *
13	24" STORM SEWER, TYPE B	LF	355	\$190.00	\$67,450.00	\$54,750.00	\$19,436,250.00 *
14	24" STORM SEWER, TYPE C	LF	385	\$90.00	\$34,650.00	\$57,750.00	\$22,233,750.00 *
15	30" STORM SEWER, TYPE B	LF	335	\$165.00	\$55,275.00	\$50,250.00	\$16,833,750.00 *
16	30" STORM SEWER, TYPE C	LF	205	\$180.00	\$36,900.00	\$30,750.00	\$6,303,750.00 *
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
18	48" STORM MANHOLE	EACH	1	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$4,200.00	\$8,400.00	\$10,000.00	\$20,000.00 *
20	ODOT 2-2B CATCH BASIN	EACH	1	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00
21	ODOT 2-3 CATCH BASIN	EACH	3	\$1,400.00	\$4,200.00	\$13,500.00	\$40,500.00 *
22	ODOT 2-4 CATCH BASIN	EACH	2	\$2,000.00	\$4,000.00	\$12,000.00	\$24,000.00 *
23	6' CHAIN LINK FENCE	LF	590	\$37.00	\$21,830.00	\$23,600.00	\$13,924,000.00 *
24	SEEDING AND MULCHING	LUMP	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
26	AGGREGATE ACCESS DRIVE	SY	425	\$24.00	\$10,200.00	\$6,375.00	\$2,709,375.00 *
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
31	CONCRETE FLAT WORK	SF	70	\$15.00	\$1,050.00	\$1,400.00	\$98,000.00 *
32	TYPE 6 CURB	LF	330	\$32.00	\$10,560.00	\$9,900.00	\$3,267,000.00 *
33	AS-BUILTS	LUMP	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$120.00	\$3,000.00	\$1,000.00	\$25,000.00 *
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$518,920.00	TOTAL	\$118,382,075.00
				DAYS TO COMPLETE:	40	DAYS TO COMPLETE: 60	
				EARLIEST START DAT	E: 11/1/2020	EARLIEST START DATE:	11/2020

^{*} Total written in words

				Faceme	yer Company	Sit	Sitetech, Inc.	
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	CLEARING AND GRUBBING	LUMP	1	\$5,560.00	\$5,560.00	\$12,170.0	0 \$12,170.00	
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$76,400.00	\$76,400.00	\$88,804.0	0 \$88,804.00	
3	HEADWALL REMOVED	EACH	1	\$1,070.00	\$1,070.00	\$100.0	0 \$100.00	
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$11,000.00	\$11,000.00	\$880.0	0 \$880.00	
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$267.00	\$9,345.00	\$220.0	0 \$7,700.00	
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$4.00	\$14,000.00	\$2.2	5 \$7,875.00	
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$289.00	\$39,015.00	\$215.0	0 \$29,025.00	
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$81.00	\$13,365.00	\$90.0	0 \$14,850.00	
9	CONCRETE HEADWALL	EACH	2	\$3,145.00	\$6,290.00	\$2,150.0	0 \$4,300.00	
10	8" STORM SEWER, TYPE B	LF	10	\$72.00	\$720.00	\$30.0	0 \$300.00	
11	12" STORM SEWER, TYPE C	LF	15	\$60.00	\$900.00	\$35.0	0 \$525.00	
12	18" PVC STORM SEWER, TYPE B	LF	80	\$49.00	\$3,920.00	\$75.0	0 \$6,000.00	
13	24" STORM SEWER, TYPE B	LF	355	\$97.00	\$34,435.00	\$160.0	0 \$56,800.00	
14	24" STORM SEWER, TYPE C	LF	385	\$64.00	\$24,640.00	\$72.0	0 \$27,720.00	
15	30" STORM SEWER, TYPE B	LF	335	\$116.00	\$38,860.00	\$146.0	0 \$48,910.00	
16	30" STORM SEWER, TYPE C	LF	205	\$80.00	\$16,400.00	\$95.0	0 \$19,475.00	
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$5,200.00	\$5,200.00	\$4,015.0	0 \$4,015.00	
18	48" STORM MANHOLE	EACH	1	\$3,090.00	\$3,090.00	\$2,316.0	0 \$2,316.00	
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$4,360.00	\$8,720.00	\$4,136.0	0 \$8,272.00	
20	ODOT 2-2B CATCH BASIN	EACH	1	\$2,125.00	\$2,125.00	\$900.0	0 \$900.00	
21	ODOT 2-3 CATCH BASIN	EACH	3	\$2,495.00	\$7,485.00	\$1,360.0	0 \$4,080.00	
22	ODOT 2-4 CATCH BASIN	EACH	2	\$3,594.00	\$7,188.00	\$2,150.0	0 \$4,300.00	
23	6' CHAIN LINK FENCE	LF	590	\$37.00	\$21,830.00	\$56.0	0 \$33,040.00	
24	SEEDING AND MULCHING	LUMP	1	\$16,800.00	\$16,800.00	\$27,000.0	0 \$27,000.00	
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$1,560.00	\$1,560.00	\$2,110.0	0 \$2,110.00	
26	AGGREGATE ACCESS DRIVE	SY	425	\$21.00	\$8,925.00	\$20.0	0 \$8,500.00	
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$557.00	\$557.00	\$1,000.0	0 \$1,000.00	
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$18,400.00	\$18,400.00	\$16,630.0	0 \$16,630.00	
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.0	930,000.00	
30	MOBILIZATION	LUMP	1	\$55,000.00	\$55,000.00		\$0.00 *	
31	CONCRETE FLAT WORK	SF	70	\$11.00	\$770.00	\$34.0	0 \$2,380.00	
32	TYPE 6 CURB	LF	330	\$31.00	\$10,230.00	\$36.0	0 \$11,880.00	
33	AS-BUILTS	LUMP	1	\$6,690.00	\$6,690.00	\$1,000.0	0 \$1,000.00	
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$94.00	\$2,350.00	\$80.0	0 \$2,000.00	
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.0	0 \$30,000.00	
	TOTAL PROJECT COST			TOTAL	\$532,840.00	TOTAL	\$514,857.00	
				DAYS TO COMPLETE:	120	DAYS TO COMPLETE	E:	
				EARLIEST START DAT	E: 90 days after NTP	EARLIEST START DA	NTE:	

^{*} No price entered in words

				Tuc	son, Inc.		Eclipse	Co., LLC
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE		UNIT PRICE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$9,300.00	\$9,300.00		\$9,757.12	\$9,757.12
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$107,595.00	\$107,595.00		\$106,241.98	\$106,241.98
3	HEADWALL REMOVED	EACH	1	\$200.00	\$200.00		\$378.50	\$378.50
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$1,200.00	\$1,200.00		\$5,082.00	\$5,082.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$226.00	\$7,910.00		\$175.00	\$6,125.00
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$3.00	\$10,500.00		\$3.00	\$10,500.00
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$210.00	\$28,350.00		\$185.00	\$24,975.00
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$85.00	\$14,025.00		\$84.50	\$13,942.50
9	CONCRETE HEADWALL	EACH	2	\$2,300.00	\$4,600.00		\$1,817.50	\$3,635.00
10	8" STORM SEWER, TYPE B	LF	10	\$60.00	\$600.00		\$62.50	\$625.00
11	12" STORM SEWER, TYPE C	LF	15	\$58.00	\$870.00		\$70.00	\$1,050.00
12	18" PVC STORM SEWER, TYPE B	LF	80	\$75.00	\$6,000.00		\$66.00	\$5,280.00
13	24" STORM SEWER, TYPE B	LF	355	\$120.00	\$42,600.00		\$104.50	\$37,097.50
14	24" STORM SEWER, TYPE C	LF	385	\$76.00	\$29,260.00		\$80.50	\$30,992.50
15	30" STORM SEWER, TYPE B	LF	335	\$140.00	\$46,900.00		\$115.00	\$38,525.00
16	30" STORM SEWER, TYPE C	LF	205	\$98.00	\$20,090.00		\$93.00	\$19,065.00
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$6,600.00	\$6,600.00		\$9,272.00	\$9,272.00
18	48" STORM MANHOLE	EACH	1	\$3,800.00	\$3,800.00		\$6,200.00	\$6,200.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$4,700.00	\$9,400.00		\$6,976.50	\$13,953.00
20	ODOT 2-2B CATCH BASIN	EACH	1	\$2,200.00	\$2,200.00		\$2,072.50	\$2,072.50
21	ODOT 2-3 CATCH BASIN	EACH	3	\$3,300.00	\$9,900.00		\$3,311.50	\$9,934.50
22	ODOT 2-4 CATCH BASIN	EACH	2	\$3,200.00	\$6,400.00		\$3,897.00	\$7,794.00
23	6' CHAIN LINK FENCE	LF	590	\$37.00	\$21,830.00		\$34.00	\$20,060.00
24	SEEDING AND MULCHING	LUMP	1	\$11,700.00	\$11,700.00		\$31,436.00	\$31,436.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$1,300.00	\$1,300.00		\$787.50	\$787.50
26	AGGREGATE ACCESS DRIVE	SY	425	\$22.00	\$9,350.00		\$21.50	\$9,137.50
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$700.00	\$700.00		\$660.50	\$660.50
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$31,000.00	\$31,000.00		\$18,000.00	\$18,000.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$20,000.00	\$20,000.00		\$26,315.00	\$26,315.00
31	CONCRETE FLAT WORK	SF	70	\$12.00	\$840.00		\$15.00	\$1,050.00
32	TYPE 6 CURB	LF	330	\$31.00	\$10,230.00		\$32.00	\$10,560.00
33	AS-BUILTS	LUMP	1	\$3,000.00	\$3,000.00		\$4,503.00	\$4,503.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$95.00	\$2,375.00		\$84.00	\$2,100.00
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$540,625.00	*	TOTAL	\$547,107.60 [,]
				DAYS TO COMPLETE:	90		DAYS TO COMPLETE: 90	
				EARLIEST START DAT	E: 11/16/2020		EARLIEST START DATE:	10 Days from NTP

*Math error

*Math error

				Great Lake	s Crushing, Ltd.		Easton Excavating, Inc.	
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE		UNIT PRICE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$20,470.00	\$20,470.00		\$12,000.00	\$12,000.00
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$125,000.00	\$125,000.00		\$185,000.00	\$185,000.00
3	HEADWALL REMOVED	EACH	1	\$750.00	\$750.00		\$600.00	\$600.00
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$5,200.00	\$5,200.00		\$2,400.00	\$2,400.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$185.00	\$6,475.00		\$175.00	\$6,125.00
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$5.20	\$18,200.00		\$4.00	\$14,000.00 *
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$212.00	\$28,620.00		\$194.00	\$26,190.00
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$90.00	\$14,850.00		\$77.00	\$12,705.00
9	CONCRETE HEADWALL	EACH	2	\$9,800.00	\$19,600.00		\$2,250.00	\$4,500.00
10	8" STORM SEWER, TYPE B	LF	10	\$50.00	\$500.00		\$11.00	\$110.00
11	12" STORM SEWER, TYPE C	LF	15	\$65.00	\$975.00		\$22.00	\$330.00
12	18" PVC STORM SEWER, TYPE B	LF	80	\$80.00	\$6,400.00		\$45.00	\$3,600.00
13	24" STORM SEWER, TYPE B	LF	355	\$67.00	\$23,785.00		\$49.00	\$17,395.00
14	24" STORM SEWER, TYPE C	LF	385	\$65.00	\$25,025.00		\$47.00	\$18,095.00
15	30" STORM SEWER, TYPE B	LF	335	\$90.00	\$30,150.00		\$68.00	\$22,780.00
16	30" STORM SEWER, TYPE C	LF	205	\$87.00	\$17,835.00		\$66.00	\$13,530.00
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$5,800.00	\$5,800.00		\$5,200.00	\$5,200.00
18	48" STORM MANHOLE	EACH	1	\$4,500.00	\$4,500.00		\$2,700.00	\$2,700.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$5,200.00	\$10,400.00		\$3,700.00	\$7,400.00
20	ODOT 2-2B CATCH BASIN	EACH	1	\$1,400.00	\$1,400.00		\$750.00	\$750.00
21	ODOT 2-3 CATCH BASIN	EACH	3	\$1,600.00	\$4,800.00		\$1,750.00	\$5,250.00
22	ODOT 2-4 CATCH BASIN	EACH	2	\$2,200.00	\$4,400.00		\$3,200.00	\$6,400.00
23	6' CHAIN LINK FENCE	LF	590	\$56.00	\$33,040.00		\$70.00	\$41,300.00
24	SEEDING AND MULCHING	LUMP	1	\$19,800.00	\$19,800.00		\$15,000.00	\$15,000.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$1,300.00	\$1,300.00		\$1,800.00	\$1,800.00
26	AGGREGATE ACCESS DRIVE	SY	425	\$25.00	\$10,625.00		\$25.00	\$10,625.00
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$1,800.00	\$1,800.00		\$1,600.00	\$1,600.00
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$9,800.00	\$9,800.00		\$25,000.00	\$25,000.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$30,000.00	\$30,000.00		\$20,000.00	\$20,000.00
31	CONCRETE FLAT WORK	SF	70	\$12.00	\$840.00		\$9.00	\$630.00
32	TYPE 6 CURB	LF	330	\$23.00	\$7,590.00		\$24.00	\$7,920.00
33	AS-BUILTS	LUMP	1	\$2,500.00	\$2,500.00		\$8,500.00	\$8,500.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$125.00	\$3,125.00		\$37.00	\$925.00
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$555,555.00		TOTAL	\$560,360.00
				DAYS TO COMPLETE:	180	DA	YS TO COMPLETE:	
				EARLIEST START DAT	E: After NTP	EAF	RLIEST START DATE	i:

*Amount written different than true amount

				Ray Bertol	ini Trucking Co.	King Ex	cavating
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00
3	HEADWALL REMOVED	EACH	1	\$500.00	\$500.00	\$500.00	\$500.00
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$1,300.00	\$1,300.00	\$1,600.00	\$1,600.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$230.00	\$8,050.00	\$240.00	\$8,400.00
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$3.00	\$10,500.00	\$2.40	\$8,400.00
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$215.00	\$29,025.00	\$215.00	\$29,025.00
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$100.00	\$16,500.00	\$88.00	\$14,520.00
9	CONCRETE HEADWALL	EACH	2	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00
10	8" STORM SEWER, TYPE B	LF	10	\$50.00	\$500.00	\$110.00	\$1,100.00
11	12" STORM SEWER, TYPE C	LF	15	\$50.00	\$750.00	\$125.00	\$1,875.00
12	18" PVC STORM SEWER, TYPE B	LF	80	\$100.00	\$8,000.00	\$83.00	\$6,640.00
13	24" STORM SEWER, TYPE B	LF	355	\$145.00	\$51,475.00	\$140.00	\$49,700.00
14	24" STORM SEWER, TYPE C	LF	385	\$75.00	\$28,875.00	\$75.00	\$28,875.00
15	30" STORM SEWER, TYPE B	LF	335	\$165.00	\$55,275.00	\$126.00	\$42,210.00
16	30" STORM SEWER, TYPE C	LF	205	\$105.00	\$21,525.00	\$80.00	\$16,400.00
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$8,300.00	\$8,300.00	\$5,500.00	\$5,500.00
18	48" STORM MANHOLE	EACH	1	\$5,100.00	\$5,100.00	\$2,675.00	\$2,675.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$7,890.00	\$15,780.00	\$5,100.00	\$10,200.00
20	ODOT 2-2B CATCH BASIN	EACH	1	\$1,135.00	\$1,135.00	\$1,600.00	\$1,600.00
21	ODOT 2-3 CATCH BASIN	EACH	3	\$2,020.00	\$6,060.00	\$2,400.00	\$7,200.00
22	ODOT 2-4 CATCH BASIN	EACH	2	\$3,640.00	\$7,280.00	\$2,800.00	\$5,600.00
23	6' CHAIN LINK FENCE	LF	590	\$60.00	\$35,400.00	\$78.00	\$46,020.00
24	SEEDING AND MULCHING	LUMP	1	\$24,000.00	\$24,000.00	\$29,500.00	\$29,500.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$3,500.00	\$3,500.00	\$2,150.00	\$2,150.00
26	AGGREGATE ACCESS DRIVE	SY	425	\$24.00	\$10,200.00	\$24.00	\$10,200.00
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$10,000.00	\$10,000.00	\$9,200.00	\$9,200.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$29,000.00	\$29,000.00	\$20,000.00	\$20,000.00
31	CONCRETE FLAT WORK	SF	70	\$30.00	\$2,100.00	\$12.00	\$840.00
32	TYPE 6 CURB	LF	330	\$35.00	\$11,550.00	\$35.00	\$11,550.00
33	AS-BUILTS	LUMP	1	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$100.00	\$2,500.00	\$210.00	\$5,250.00
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$564,180.00	TOTAL	\$567,330.00
				DAYS TO COMPLETE:	180	DAYS TO COMPLETE: 21	0
				EARLIEST START DAT	E: 4/1/2021	EARLIEST START DATE:	12/1/2020

				Bob Bennett C	onstruction Co., Inc.	_	Trenching Service nc.
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	CLEARING AND GRUBBING	LUMP	1	\$13,000.00	\$13,000.00	\$16,000.00	\$16,000.00
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$86,300.00	\$86,300.00	\$132,645.00	\$132,645.00
3	HEADWALL REMOVED	EACH	1	\$500.00	\$500.00	\$1,600.00	\$1,600.00
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$2,000.00	\$2,000.00	\$3,600.00	\$3,600.00
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$275.00	\$9,625.00	\$193.00	\$6,755.00
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$3.50	\$12,250.00	\$3.25	\$11,375.00
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$220.00	\$29,700.00	\$239.00	\$32,265.00
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$130.00	\$21,450.00	\$88.00	\$14,520.00
9	CONCRETE HEADWALL	EACH	2	\$2,300.00	\$4,600.00	\$5,900.00	\$11,800.00
10	8" STORM SEWER, TYPE B	LF	10	\$200.00	\$2,000.00	\$120.00	\$1,200.00
11	12" STORM SEWER, TYPE C	LF	15	\$210.00	\$3,150.00	\$140.00	\$2,100.00
12	18" PVC STORM SEWER, TYPE B	LF	80	\$250.00	\$20,000.00	\$145.00	\$11,600.00
13	24" STORM SEWER, TYPE B	LF	355	\$125.00	\$44,375.00	\$100.00	\$35,500.00
14	24" STORM SEWER, TYPE C	LF	385	\$75.00	\$28,875.00	\$77.00	\$29,645.00
15	30" STORM SEWER, TYPE B	LF	335	\$135.00	\$45,225.00	\$107.00	\$35,845.00
16	30" STORM SEWER, TYPE C	LF	205	\$80.00	\$16,400.00	\$97.00	\$19,885.00
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$6,300.00	\$6,300.00	\$7,600.00	\$7,600.00
18	48" STORM MANHOLE	EACH	1	\$4,450.00	\$4,450.00	\$5,400.00	\$5,400.00
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$6,050.00	\$12,100.00	\$5,420.00	\$10,840.00
20	ODOT 2-2B CATCH BASIN	EACH	1	\$2,675.00	\$2,675.00	\$1,500.00	\$1,500.00
21	ODOT 2-3 CATCH BASIN	EACH	3	\$1,800.00	\$5,400.00	\$1,950.00	\$5,850.00
22	ODOT 2-4 CATCH BASIN	EACH	2	\$2,250.00	\$4,500.00	\$2,500.00	\$5,000.00
23	6' CHAIN LINK FENCE	LF	590	\$38.00	\$22,420.00	\$60.00	\$35,400.00
24	SEEDING AND MULCHING	LUMP	1	\$12,000.00	\$12,000.00	\$14,000.00	\$14,000.00
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00
26	AGGREGATE ACCESS DRIVE	SY	425	\$40.00	\$17,000.00	\$42.00	\$17,850.00
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$40,000.00	\$40,000.00	\$12,000.00	\$12,000.00
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
30	MOBILIZATION	LUMP	1	\$17,000.00	\$17,000.00	\$10,000.00	\$10,000.00
31	CONCRETE FLAT WORK	SF	70	\$40.00	\$2,800.00	\$20.00	\$1,400.00
32	TYPE 6 CURB	LF	330	\$40.00	\$13,200.00	\$32.00	\$10,560.00
33	AS-BUILTS	LUMP	1	\$2,500.00	\$2,500.00	\$3,200.00	\$3,200.00
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$120.00	\$3,000.00	\$66.00	\$1,650.00
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	TOTAL PROJECT COST			TOTAL	\$569,795.00	TOTAL	\$571,585.00
_				DAYS TO COMPLETE:	190	DAYS TO COMPLETE: 18	00
				EARLIEST START DAT	E: 11/9/2020	EARLIEST START DATE:	11/15/2020

				Perk Company, Inc.			S.E.T. Inc.		
ITEM	DESCRIPTION	UNIT	QTY.	UNIT PRICE	TOTAL PRICE		UNIT PRICE	TOTAL PRICE	
1	CLEARING AND GRUBBING	LUMP	1	\$9,500.00	\$9,500.00		\$12,515.00	\$12,515.00	
2	EXCAVATION AND EMBANKMENT	LUMP	1	\$109,700.00	\$109,700.00		\$112,593.00	\$112,593.00	
3	HEADWALL REMOVED	EACH	1	\$710.00	\$710.00		\$172.00	\$172.00	
4	PLUG/ABANDON EXISTING 15" STORM SEWER	LUMP	1	\$3,945.00	\$3,945.00		\$7,471.00	\$7,471.00	
5	ODOT 301 ASPHALT CONCRETE BASE	CY	35	\$195.00	\$6,825.00		\$108.00	\$3,780.00	
6	ODOT 254 PAVEMENT PLANING	SY	3,500	\$2.00	\$7,000.00		\$3.00	\$10,500.00	
7	ODOT 441, ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	CY	135	\$225.00	\$30,375.00		\$208.00	\$28,080.00	
8	ROCK CHANNEL PROTECTION, TYPE B	TONS	165	\$51.50	\$8,497.50		\$86.00	\$14,190.00	
9	CONCRETE HEADWALL	EACH	2	\$2,320.00	\$4,640.00		\$2,635.00	\$5,270.00	
10	8" STORM SEWER, TYPE B	LF	10	\$74.85	\$748.50		\$144.00	\$1,440.00	
11	12" STORM SEWER, TYPE C	LF	15	\$91.00	\$1,365.00		\$85.00	\$1,275.00	
12	18" PVC STORM SEWER, TYPE B	LF	80	\$88.35	\$7,068.00		\$78.00	\$6,240.00	
13	24" STORM SEWER, TYPE B	LF	355	\$92.15	\$32,713.25		\$187.00	\$66,385.00	
14	24" STORM SEWER, TYPE C	LF	385	\$176.85	\$68,087.25		\$68.00	\$26,180.00	
15	30" STORM SEWER, TYPE B	LF	335	\$77.00	\$25,795.00		\$122.00	\$40,870.00	
16	30" STORM SEWER, TYPE C	LF	205	\$180.00	\$36,900.00		\$90.00	\$18,450.00	
17	ODOT 2-4 CATCH BASIN CONTROL STRUCTURE	EACH	1	\$7,090.00	\$7,090.00		\$7,013.00	\$7,013.00	
18	48" STORM MANHOLE	EACH	1	\$6,980.00	\$6,980.00		\$3,428.00	\$3,428.00	
19	48" STORM MANHOLE WITH CONCRETE BOXOUT	EACH	2	\$8,660.00	\$17,320.00		\$9,565.00	\$19,130.00	
20	ODOT 2-2B CATCH BASIN	EACH	1	\$3,300.00	\$3,300.00		\$1,933.00	\$1,933.00	
21	ODOT 2-3 CATCH BASIN	EACH	3	\$4,315.00	\$12,945.00		\$1,885.00	\$5,655.00	
22	ODOT 2-4 CATCH BASIN	EACH	2	\$4,115.00	\$8,230.00		\$3,044.00	\$6,088.00	
23	6' CHAIN LINK FENCE	LF	590	\$34.00	\$20,060.00		\$76.00	\$44,840.00	
24	SEEDING AND MULCHING	LUMP	1	\$18,600.00	\$18,600.00		\$14,724.00	\$14,724.00	
25	ODOT 642 PAVEMENT MARKING	LUMP	1	\$3,100.00	\$3,100.00		\$3,300.00	\$3,300.00	
26	AGGREGATE ACCESS DRIVE	SY	425	\$26.25	\$11,156.25		\$28.00	\$11,900.00	
27	PRECONSTRUCTION DVD RECORDING	LUMP	1	\$2,500.00	\$2,500.00		\$3,003.00	\$3,003.00 *	
28	EROSION AND SEDIMENT CONTROL	LUMP	1	\$19,800.00	\$19,800.00		\$22,565.00	\$22,565.00	
29	PROJECT CONTINGENCY ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00	
30	MOBILIZATION	LUMP	1	\$31,350.00	\$31,350.00		\$40,220.00	\$40,220.00	
31	CONCRETE FLAT WORK	SF	70	\$22.40	\$1,568.00		\$104.00	\$7,280.00	
32	TYPE 6 CURB	LF	330	\$30.00	\$9,900.00		\$31.00	\$10,230.00	
33	AS-BUILTS	LUMP	1	\$1,825.00	\$1,825.00		\$5,450.00	\$5,450.00	
34	AGGREGATE SIDE SLOPE PROTECTION	TONS	25	\$51.50	\$1,287.50		\$240.00	\$6,000.00	
35	INSPECTION FEE ALLOWANCE	LUMP	1	\$30,000.00	\$30,000.00		\$30,000.00	\$30,000.00	
	TOTAL PROJECT COST			TOTAL	\$590,881.25		TOTAL	\$628,170.00	
				DAYS TO COMPLETE: 120		DAYS	DAYS TO COMPLETE:		
				EARLIEST START DATE: 10 days from NTP			EARLIEST START DATE:		

*Amount written different than true amount